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Run 4498 mpswise, accO: All

Enilries: 470053

Mean: GOR2ET 4 00048

Sid Dev: 3747 - 0.00%4
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AcciNAccD

Run 4498 mpswise, acc0: Beam ON, Laser ON

Helicity==0
— Helicity==1

Enitries: 152794

Mean: 86E9T 4- 0.0

Sid Deery: DLB3E2 - 000N 5
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Run 4498 mpswise, accO: Beam OFF

Enlries: 23268

Meari: 005102 +/- 0.0018

Sid Dev: 02813 - 0.00013
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AccliNAccD

Run 4498 mpswise, acc0: Beam ON, Laser OFF

Helicity==0
— Helicity==1

Entries: 64235

Mean: ZO0TET +- L0024

Sid Dev: DLE164 - 0.0007F




Run 4498 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF

Run 4498 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4498 mpswise, AccO/NAccO:mpsCoda, beam ON, laser ON Run 4498 mpswise, AccQ/NAccO:mpsCoda, beam ON, laser OFF
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